
j*f g+= 1          s'n ah]^ ? 80,72,715 
s_ k"jf{wf/ lasf; tkm{ ? 5810900.50                             gd'gf of]hgf ? 1010900 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 law't la:tf/ j*f 1 1010900   
  hDdf   1010900   
vfg]kfgL  tkm{ ? 2050000.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 &'nf] s'jfF lgdf)f{ kfOk df]^/ 5HP 1yfg lr;fkfgL j*f 1 400000   
2 vfg]]kfgL kfOk la:tf/ tyf wf/f lgdf)f{ j*f 1 jgjf/L / jg#';|L 400000   
3 vfg]kfgL kfOk la:tf/ tyf wf/f lgdf)f{ j*f 1 klqËf 400000   
4 cf]e/ x]* +̂sL lgdf)f{ j*f g+= 1 h]&fgufpF 400000   
5 vfg]kfgL kfOk la:tf/ tyf wf/f lgdf{)f j*f g+= 1 h'/f}gL 500000   
  hDdf   2100000   
l;rfO tkm{ ? 1200000.–   
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 kSsL s'nf] lgdf)f{ / 3 Pr lk df]^/ vl/b j*f 1 /Ël;Ëdf 400000   
2 kSsL s'nf] lgdf)f{  j*f 1 jgjf/L / jg#';|L 400000   
3 kSsL s'nf] lgdf{)f j*f 1 a*x/f 400000   
  hDdf   1200000   
;*s tkm{ ? 850000.–   
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 af^f] u|fe]n l/Ë/f]* kSsL gfnL lgdf)f{ j*f 1 dndnf r]tdfg #/ b]lv l*j af]l/Ë ;Dd tyf dndnfdf 400000   
2 gofF «̂ofs tyf af^f] u|fe]n wf]b|] l/Ë /f]* ^xF*f dlYfNnf] a:tL leqL af^f]  400000   
  hDDff   800000   
ejg tkm{ ? 400000.–   
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 cw'/f] dlxnf ejg lgdf{)f ag#';|L 400000   
  hDdf   400000   
 cWoIf k'FhLut ;'wf/ sfo{qmd   300000  
k|j${gfTds tkm{sf] ? 2361815.–            k"jf{wf/ tkm{sf] of]hgf -km'^s/ of]hgf_ 1417089 
;*s tkm{ ? 350000.–    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 gfnL lgdf{)f h'/f}gL km\ofS «̂L hfg] af^f] 100000   
2 kSsL gfnL tyf uf|e]n sfnfsf ]̂ ljBfnosf] af^f] 150000   
  hDdf   250000   
:jf:Yo tkm{ ? 100000.–    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 %t (nfg :jf:Yo rf}sL lgdf{)fflwg ejg 100000 yk uf=kf 
  hDdf   100000   
lzIff tkm{ ? 300000.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 d~r lgdf{)f hgtf df=lj=sfnfsf^] 200000   
2 kmlg{r/ Joj:yfkg hgd"vL cfwf/e't /Ël;Ë 100000   
  hDdf   300000   
vfg]kfgL tkm{ ? 237089.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 vfg]kfgL kfOk la:tf/ em/f}gL vf]nf j*f g+=1 af^ h'/f}gL 167089   
2 2 xif{ kjf/sf] 4 yfg df]^/ vl/b tyf kfOk la:tf/ l^sf ^f]n , a}emfnL ^f]n / ^Fx*fdf  100000   
3 vfg]kfgL kfOk la:tt/ wfgvf]nf 100000   
  hDdf   267089    



 
l;rfO{ ;/;kmfO{ tkm{ ? 400000.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 ;fj{hlgs :gfg u[x lgdf{)f ag#';|L 100000   
2 ;'o{ s'nf] lgdf{)f  tNnf] wfgvf]nL 100000   
3 hgzlQm s'nf] lgdf{)f -cw'/f]_ j*f g+= 1 100000   
4 lar s'nf] lgdf{)f tNnf] wfgvf]nL 100000   
  hDdf   400000   
nlIft ju{ tkm{ ? 8,44,726.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 afnaflnsf tkm{ 15 k|ltzt j*f g+= 1 254276   
s afn lasf; Joj:yfkg cfbz{ k|f la= 150000   
v afndqL :yflgo zf;g sfo{qmd j*f :tl/o 104276   
2 dlxnf tkm{ 5 k|ltzt   118090   
s dlxnf zf}rfno ag#';|L 75000   
v lth÷gf/L lbj; sfo{qmd j*f g+= 1 :tl/o 43090   
3 cflbaf;L hghftL tkm{ 5 k|ltzt   118090   
s vfgfkfgL kfOk2000ld=vl/b lr#/f k'/fgf] 50000   
v rr{  lgdf{)f /+ul;Ëdf 68090   
4 dw]zL, d'lZnd tyf lk%*f ju{ tkm{ 5k|ltzt   118090   
` af^f] u|fe]n h'/f}gL ldofF ^f]n dl:hb  118090   
5 h]i& gful/s tkm{{ 1 k|ltzt j*f g+= 1 23618   
s %ftf nf}/L ^r{ ljt/)f ug]{   23618   
6 o"jf tyf v]ns'b tkm[ 5 k|ltzt hgtf df=lj= /lgË lzN* 118090   
7 bflnt tkm{ 2 k|ltzt   47236   
8 ckfË 2 k|ltzt   47236   
  hDdf   944726    


